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Which of the following statement/
" statements is/are cosrect?

A. BBMP. _Jaunched
: arpbnke _.Nakshe'’// which
rovi itd i approval

completely online.
B. It applies for the construction of

independent houses on plots sized

more than_50*80 square feet.
Applicants arc given a maximum
of 30 days to pay the fces to the
BBMP theough an online payment
galeway.

BBMP plans to issue a final
building license in 15 days with a

digital signature.
Options:
(1) Only onc statcment is correct
(2) Only two statcments arc correct
(3) Only three statements are correct

(4) All the statements is correct

2  Which of the following statement/
statements is/are incovrect?

A. Rajyotsava Awards, the highest
civilian awards, are conferred
annually by the Karnataka
Government on the occasion of
Kannada Wa. marked on
November

B. The award carries a purse of Rs.

1 1akh, a 20-gm gold medal and
a citation.

C. A committee of 5 members 1S
formed to select the awardees in
the field of medicine, Jaw, music,

_theater,_cinema, mn_gg_gSl__mQD&
- more. i
D. This year the govemment 13 set .
: to confer the awards on 69 c.
. Options:
(1)'BandD/ /(Z)/AandC
3) Cand D~ “() A and B

Paper-1I(F)_R

4

Which of the stateme
ntstatem i
are correct? PR

for women 02'}' in private sectors. 1~

B. Kamamka i.s the second state to m
come out with such a policy after
Kerala.

~ Options:
N

(1) Aonly Gl
B only o

(3) Both A&B -

(4) None of the above m

Recently Kamataka Govermnment has

launched @n'a_p Basket] Consider

the following statements. -

A. " They are the 'épccial traps ru_}
designed to attracl and kill w0
mosquitoes like Aedes. 8

B. It is a pot shaped device filled 1

. . m
with water and chemicals.

C. It was first launched in BBMP,
Bangalore. ’

D. Electricity 1is required for ,q
functioning of the device. S

Which of the above statements are ©

wrong? S

m

(1) D only

(2) C only '

(3) C and D only

(4) None of the above
' RT.O.

' LN
A, Kamimﬂ(a plans to offer six d:wsqg
of paid menstrual leave annually‘ 8
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5 | Whichoflthe following are declared as

Fish Sanctuarics in Kamataka?

Mattur - Iosahalli, Shivamogga

—» Tunga River

B. -sdthnui\(lrkala -
] ‘thl(ycr

Shishila, Belthangadi —

Kumaradhara River

D. Bhagavathi Chaya Kolla,

Surapura Taluk —» Krishna
" River 7

[low many pairs are matched correctly?
(1) Only one is correet

(2) Only two are correct

(3) Only three are correct

(4) All the above are correct

l‘npcr-ll(l-:)_R

Which of the following statement/

statements is/are correct?

A.

The Government of Kamataka has

recently launched *VentuRISE-

Global startup Challenge 2024 to

recognise, reward and support

growth stage startups,

B. The challenge will focus on
Electronics System Design and
Manufacturing only.

C. The winners will share a prize

i poal of $300,000 and receive
mentorship from industry leaders.

D. Itis started by the Department of
Electronics, Information
Technology and Biotechnology.

Options:

(1) A and C only

(2) Cand D only

(3) All the statements are correct

(4) All the statement are wrong

PIT. 0 -
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7  Match Lhe following Ramsar site and
the States: % ¥

1)
:-ol Ramsar sites States
o A. Rudra Sagar /L Haryana
o : B33 R
= Lakc. :
m - B. Bakhira,’ II. Tripura
Wildlife: ;..
Sanctuary \
0 C. Sultanpur 11[. Uttar Pradesh
~l National
\D
Q
3 IV. Mizoram
r

Consider_the_following statements

a2boufiK
A. They are montane forests that

thrive well in cold temperatures.

B. Pine (Pinus wallichiana), Deodar
(Cedrus deodara) trees grow well
_in Kelp forest.

Which of the above state
statements is/are correct?

Answer Options:
(1) A only
(2) B only

()})/601!1 A and B
(4) None of the above

Paper-11(F)_R

rest:

ment/

=] 3100615

v

7 ,

following statements

9 .Considcr the
amme :

about Blue Flag Progr
The Blu :
run by the Foundat:on for
Environmcntal Education and is

headguartered in Nim,/bi,ﬁw

asarkod Beach nnd Padubidri
Blue Flag certified

B

/ Beach are¢
beaches from Karnataka.

C. India has the highest number of
Blue Flag certified beaches in the

world.

Which of the above statement/
statements is/are correct?

A and B only
(2) B oq_ly
(3) A and C only

(4) A, B and C only

10 /[:uring prolonged space missions
],.Stmnams often experience musck;
rophy. This is primarily due to

(2) Microgravity

/ﬁf}(ﬁgh caloric intake
Mnnscd mdidtion €Xposure

P.T.O.

¢ Flag Programme is -
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Certain parts Mmay gréw faster

Fs, Causing the plant to bend,
Identify the besy cXplanation for thijs
phenomenon,

than 6lhc

(1) Roots ETOW lowards water sources

(2) Water stimulates growth in the
drier side

plant requires water for
ynthesis

Growth hormones accumulate in

weller side to. promote cell
elongation

12 According 1o the WHO, India s
cradicated from which of the following

discases?

Polio, Trachoma, Yaws, Phzue

_w
e

——
and Small pox.
( i0, Glaucoma, Filariasi
Plague and Malaria. '
. ~—

(3) Plague, Trachoma, Malaria,

‘Glaucomn and SIW

sickness.

(4) Plaguc, Small pox, Yaws,

Filariasis and Slecping sickness.

Paper-11(F)_R

13 Which of the

following are essential

nutrients' for human body?

Carbohydrates and Proteins /

A
B. Vitamin B and Vitamin C

C. Cholesterol and Vitamin D\(
D. Magnesium and Phosphorus

E. Iron and Zinc

F. Water and Fats

Choose the correct answer from the

options given below:

(1) A, B,CandD \
/ A,B,D and E

(3) B,C,Aand E

4) B,C,AandF

14 Name the process of measuring the

concentration of chemicals in biological

fﬂuuds lo assess the health of an
environment.

Eoremcdintion

——

(2) BiO"monitoring

/(’-’{ Bio-augmentntipn
4) Biodegradation

P.T.O


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

15 Match list I with List Il
List I List I1 "
A. Physics" 1. 'MicroRNA and
' Frsey Gene r;egulation
B. Mcdicinc II. Compulational
| protein design
[11.

o Peac'c T;aumas and

fragility
. of human lif_c
~ D. Chemistry IV. orld free of
3 nuclear
_ . weapons
NLM(\HJ V. Synthcsis of
s ' ‘quantum
dots
. ‘Nucleoside base
modifications
. Machine
lcarni.ng
and artificial

. \ L

gl DR ncuf:il networks
Answers: o
(1) AL, B-II, C-1, D-IV, E-VI
'2) - AL, B4, C-1IL, D-V, E-IV

/‘)/'A-VII, B-1, C-1IV, D-II, E-II
(4) A-l, B-II, C-III, D-IV, E-V

Paper1I(F)_R

16 Consider the following statements:

Assertion (A) :
Passenger pigeon is an extinct specics.

Reason (R) :

A species is said to be extinct when

there "are no moré-individuals of that

species alive anywhere in the world.

Choose the corrcct answer from the

options ngcn bclow

(1

(2)

(3)

)

Both Assertion gmd Reason are

true and Reason is the correct

explanation’ of the Assertion.

Both Assertion and Reason are
true but Reason is not the correct

explanation of the Assertion.

Assertion is truc but Reason is

false.

3100615 3100615 3100615

¥ 3100615

"‘Both Assertion and Reason are i}@"]

false.

-PT.O,
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17 The “Natural Capital Accounting and
Valuation of Ecosystem Scrvices”
(NCAVES) project, launched in 2017

“aims to enhance knowledge and
develop policy applications of

environmental-cconomic accounting. In

this context, which of the following
statement/statements is/are incorrect?

A.  The project is implemented by the
United Nations Statistics Division,
United Nations Environment
Programme, and the Convcnlion
on Biological Diversity (CBD).

B. Miciistry of Statistics and
Programme Implementation
(NloSP1) is th al agency for

implementation of NCAVES
- 1 lndiaa :

s. .(’

At the sub-national level, in the
State of Karnataka, a suite of
ecosystem accounts has been

developed led by the Indian
Institute of Science,

Answer Options:
(1) A only
(2) B only
(3) C only

(4) None of the above

Paper-II(F) R

13

18 COﬂSidcr

the following statements/

statements about(fndmn Leopard:

3100615

A. Indial.'x Lcoparc{ is a nocturnal
animal. /

B. They are unique in the sense that -

female Indian Leopard always {3

/wcigh heavier than male Indian S
Leopard.

L

™M
C; eopard safari was launched at
/l;annérghaun Biological Park.

D. Indian Leopard ‘is classified as

/ “Vulnerable” by ITUCN Red list,

How many of the following statement/

3100615

Slatements are correct?

(1) Only one Statement is correct

(2) On tWo statements are correct

.-

3) Only three Statements are correct 3.

L?;G 3100615

4) Al the four Statements are correct

P.T.0.
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19 Consider the following under the

petwork systematically and

() _‘(\aigital dc(ox>initialivc launched by the
G Government of Kamataka:
8 A. The initiative is launched in
> collaboration with the All India
4 Game Developers’ Forum
(AIGDF). =
B. The initiative has special
emphasis on gaming and social
0 media. '
3 Choose the correct options:
=
5 (1) A only
-
" (2) B only
(3 BothAandB
- )
Neither A nor B
) :
i 20 Kamataka Government decided to roll
: out the *Pragati Patha’ scheme 10 -
: A./ Improve and develop rural road
)

qualitatively.
B. The scheme will cover a total

length of over 10,000 kms
covering all the constituencis of

the state.

Whichefthe satement’s is'2r correct?
) A only

(2) Bonly

lled Karnataka -
Yojane Was
the budgel. The scheme

farmers with guidance
ect of the following?

schem¢e ca

' new . )
o : Samruddlu

Raitha
announccd on
will provide the

and support in resp

testing and soil characteristics.

B. Making farmers
opportunitics rclated
and valuc addition.

C. Creating markel linkages for
farmers to get a good price /'cr/
their produce.

D. Selecting crops based on the soil
characteristics and market
demands.

Options:
(1) Only one statement is correct

(2) Only two statements are cormrect
3)

v three statements are correct

22

M L4
per the Kamataka Budget 2024-25-

A. Providing :nformation on soil/

A Spice Park will be developed in
. district under 1
= . : public-
P \afe parnership to encourace spi
EIOWIng farmers and 10 o

of spices. promote exporn
(2) Kodagy
(3) Manealun,

PT.0.
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In the context of the Budget_for the
state for the Financial Year 2024-25

A. Kamataka has allocated towards

culture, which is higher than
' the average expenditure on
agricullure by Indian states in,

2023-24.

B. Karnataka has allocated on rural
development, which is lower than
the average allocation for rural
development by Indian states in
2023-24.

C. Karnataka has allocated on

eduction, which is lower than the

v laverage allocation for education
Indian states in 2023-24.

Choose the -correct options:
(1) A BandC

(2) Band C only -

(3) Aand B only

(4) A only

24 Consider the following matches.
A. Rice Technology Park -
Karatagi
B. Maize Technology Par‘k:/
Ranebenaur S
C. Coconut Technology Park - Udupi A
' rurTechology Pk Kafaburagi
Choose the correct answer from the
option given below. %
(1) Omrly onc match is correct
(2) ly two matches are correct
Only three matches are correct

) | matches are correct -,

. Paper-11(F)_R

he following statement/
25 which © 5  orrect? -
tascment l has nowW been man o
8 ’Lhawistration of all t)’lgcn
e rccg cs including resl
g;zpcommercial Jand. W
B Agnculturn,ny:dﬂ
Bxcm'pwd go af/:c'ﬁd t:ictitious
& :rtnr::z:::ltxons pusing fake man;;z:
khatas and streamline the proc
Options:
(n A and B oaly
/25 A and C only
(3) and C only
A, Band C

the following statement/
statements is/are correct?

A. Mysuru Dasara festival is
celcbrated over_12 days starting
with Navratri and on the 12" day,

%thc :dol of Goddess
Chamundeswari- is ied in
: grand procession.

B. It is celebrated because the
Goddess Chamundeswari siew
demon Mahishasura on

Vijayadashami day.
-C. Mysurus Dasara is the state.
. festival-Nadahabba of Kamatn.la/
D, The custom of Mysuru Dasara

_ extends to the days of (e
@,"/ i\lljuay.an:tzgr Empire and was
X erile ' the 'Wo
2 e Y the Wodcyars of
Options:

~(1) /A, B and C

All of the above

26 Which of

PT.O
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27 Consider the following about

'Ncelakurinji Mowers:

A. Tt is the famed shrub found in
Westcrt} Ghats, covering the
slopes of. Tamil Na and

amataka ]
These floweTs are said lo grow at
an altitude of less than 1300

meters and it blooms once in 12—
years.

C. There are 250 variations of these
flowers found across the world,
of which 46 variations are scen
in India.

D. These flowers also attract bees

that pollirate, it keads to extraction
of a rare kind of honey.
Which of the above statement/
statemenls is/are correct?
(I) C and D only
(2) A and B only
(3) and C only
B and D only

28 Consider the following statements and
choose the correct option from below:
A. Pat¢mity leave can be availed

nly by marricd male government

employees. )

Single male parents like

unmarried individuals, divorced

men and widowers are only.

allowed a patemity leave of 15

days. | -

Married male parents are allowed

a paternity leave of 45 days. -

Optiops: :

(1)~"Only one statement 1s correct

2) All the statements are f:om:ct

(3) Al the statements arc incorrect

(4) Only two statements are p.orrccl

C.

Paperl l(F)_R' ,

19

A ojcct
Consider the following about ~e0) 4—:2
9 0 :
. Madhunctriz

ro'cct aims & .
A ;rcl::crl:iné of patients with dinbetes

with mobile screening dcvx(;:icsb::\ic:
initiate early trcatment for al e
retinopathy (DR) at completely
cost. .

Diabetic retinopathy i1s an cye
condition that affects the blood
vessels in the retina and can cause L0

. |
vision loss and _b_l.mdn,ess_n.n_w
people who have diab o

Which of the above statement/ =
. statements is/are correct?

to cnﬂblc the

31006

™
(1) A only
(2) only
/()/gom A and B
(4) None of the above 0
v

D
O

30 Which of the statemcent/statements is/

' are correct nbou@nmmn.Smamkn?
’,'

A. Namma Smaraka are the ™M
archaeological sites that are
recently excavated and depict the

history and cultre of Kamataka,
B/(ar:zn Smaraka sites can be
adopted by co

1

TPOrate companjeg 0

to conse.rve Prescrve and protect S
thcs_c Sites and develop basic o
tourism infrastructyre o~
Which of the =

above state

statements is/are Ccorrect? e
(D Only B
B only 1‘2\‘*

(3) Both A ang
“) one of (he above
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31 Group the given figures into three
classes using each figure only once :

lo R
(O AL

(1) 3,4,9:°5,7,8 1,26

2 1,56; 2,4,8;,:3,7,9
(3) 4,6,8; 3,5,7; 1,2,3°
@ 1.2,7 3,59; 4,6, 8

- ‘ '

-_ - |

‘inﬂﬁc ﬁissing number in the
following: '
LA

\?/
X| N

o

34
i
@ T L g
Vil
(3) 18 L K /
(4) 15 "yut
Paper-11(F)_R \o

CLULLLR R LI i

'
(e

33

34

I\

35

21 .

ST LR LR HE R Y

Consider the following for question

33 and 34:
A-wealthy merchant had once come to

meet Tenali Rama with following )
problem : A 8
A. She wanted to distribute her
property equally among her two 8
daughters, Arya and Sita, and one =3
son Sonu. o
B. She has Rs_7000 in form of farm
produce, 1 house worth Rs. 5000,
—3 parcels of fand of Rs. 3000 each
and some gold coins of Rs. 100
cach.
C. Asingle unit of Gold coin, single L)
parcel of land and a house cannot v
be divided partially. Also, ecach O
child reccives an equal number- O
of gold coins. o
D. Arya receives least from farm v
produce while Sita reccives the ™
highest when Tecnali Rama
. divided property.
How much did Sonu receive in farm
o
. 3000 N
(2) Rs. 4000 (’};o"g
(3) Rs. 2000 0
(4) Rs. 1000 o
tp\‘ o
How man Is of ' g"l
b e Yy parcels of land did Arya
(1) 1
2) 2
(3) 3
(4) Cannot be determined
Rupesh introd ' L'Pi
. Introduces Poonam as the
?Vai‘l{f};‘g\sg lggocz‘nly so;n of my father’s g
@ ke amrelatedto Rupesh? Ks
(2) Niece b,
83 Daughter M
Aunt &
. 7%

SIS 7=

~ _
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Direction : Answer the questions
36-38 by considering the following
" sealing arrangement:

A, B, C, D, E, F and G are 7 friends
sitting in a single row facing North. D
is to the immediate right of C. E and A

arc necighbours of F..B is to the

xmmcdmtc left of C and on second
place from left most end. A is at the

right most end.

36 Who is in bepween C and E2.
(8) X - ress ‘ 7'N
2) D , |

G) A M

@ B fEEREEY

39

=== 4

37 Who is the neighbour of G? Mf;v_,
() E |

28 What is the position of E from leR?

. Sth n -
/v/nd 3zes: (%
) 2 . )

h

Pnpé.i‘ll(F)_R :

In a class of 45 studcnts Aditya’s rank
is twelve from top. What is his rank

from the bottom? ‘ ‘A('
"o J P :‘3':
(2), 34 : y : §

o

(3) 35 1

%
\VM

(4) cannot be determined

wS

40 If in a certain language, MADRAS is

coded as NBESBT, howis _I_BOMBAY'

coded in that language? f
8~
(1) ANLAZX : »30
\‘O \40

MBZ e

3) CcPOCBZ =~ H\APRAD
R 0 AL M e
(4 DQODCA A B AT

Deepak said to Nitin, “That boy playing
football is the younger of the two
brothers of the daughter of my father’s
wile.” How is the boy playing football
related 10 Deepak? '

) .Son r <
(2) Brother A f '/.»'
(3) Cousin % 2

Ncphcw S‘l‘.
J 01 RT.O.
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42 In a queue, the position of A from the
front is 7t and the position of B from
the front is 15' and 21 from the back.

Now find the position of A from

back. , W,
(1) 30% : \n”
s &y
‘/
[
4) 318 4

43 A person has a total of }O_6Qﬁu_s in
coins of five rupee, _Wo rupee, one—
rupee_and fifty paisa coins in the
propomon2 73 Find the numberof
two rupee coins.
(1) 80 ..~
(2) 280.. -..

i (3) _A60
/M/lrzo 2

44 The question given below has two
statements followed by, three
conclusions. By assumiﬁg the
statemeents are true, find out from the

given conclusions, that which of the

Stalemcnts .

45 What is the greatest number of regions

into which three straight lines (of

infinite éxtent) can divide the plane?

(s

(2) 6 _ Lf
(3) 7 |

4) 8

(4) l

There are morc adults than boys more
¢ boys than girls, more girls than families,
If no family has fewer than 3 children,

then what is the least number of
families that there could be?

(1) 4
2) 3

LA L o
conclusions i IS logxcally correct. 9"?“,4 i X" 9 :

(i) All doors are table/@ﬂ‘,b('} A ten foot pole is dropped into a milling -

. (i) No tables are chairs
lusiow :

Saw and randomly cut into three shorter
poles. What is the probability that these
three pieces will form a triangle?

af 1
( o o Gl
213

y 174

P.T.0.

——
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48 How many of the followfng statement/
statcmcnts are correct about ngkxeng

Jn or meg Root Bndgcs?

S ; . » P &

A. Itis found in the evergreen forest
eco-region of Andaman Islands.

B. These structures are made’ by
indigenous Jarawa  tribal
communities ~which _ have
performed in extreme climatic
‘conditions for’ centuries, and
encapsulate a profound harmony

,“." between 'hiimans zin&'na'un/

C. They are used by locéls as

ridges, ladders and steps which
p.rovidc a reliable mode of
. transport cspccnally durmg
A &
monsoon season. l
'ﬁ

Answer Options:

(1) Only one

(2) Onily two:

Vo |
) Only three
3T . (49
(4) None of the above
Z ik
Papér-1I(F)_R 27

49

| statements

_— Burcau (WCCB)?

Which of the following statement/

are correct about Specnal

Operations of Wil

Operation Soft Gold aims towards

A.
curbing the menace of illegal
wildlife tradc in Tibetan antelope
(Shahtoosh) .....
-h an ‘ < )a ¢
B. Opcrauon Wildnct aims to stop
7 the 1llegal salc of w:ld animals
W e
onlmc.
C.

Operation -Pﬁbjj_nims_to inspect

the illegal turtle trade.

«s8 o retas
« V3 \ % v .-‘“"l"..

Ans\;ver Options: o3ia
(1) B only

(2) '-A and B only

(3) C only

(4) B and C'only

1'15' !{ JD.

dlife .Crime Control
sl e ‘/

un
-
\O

0

3100615

3100615

3100615

———aw-m-w-E 8 K B F BN B B pPre—w—w

B

Scanned with CamScann



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

the world. It sprnwls across three South

lo

(1) Columbna Bcuador, Pcru

/(z/( Brazil,) Columbia, Venezuela

(3) Argentina, Bolivia, Chile

)ﬁ/ Bolivi

Brazil, Paraguay

51 How many ‘of the followmg are marine

Amcncan countries. W'hat are these?

L

—

‘mammals? .- 477 >

ety
A Dolphin 5~

SefryRe

Walrus

Sca Horse/

Answer Options:

.(1) Only two
(2) Only three
(3) Only four

1133 L U

(@) oy ve,

PapertlI(F)_R

Consider the. following statements/

statenicnts about the Compensat
Aﬁ'orcstatlon Fund Act, 2016: -/-
bl

A. The Act prov:des for the
establishment of a fund under th

& Comingcncy Fund of India :

B The Supremc Court of India
~the T.N. Godavarman

in -
/ﬁumulpad casc 2002 observed
~~  that a Compensatory Afforestation

Fund be created,

C. The term “net present value” is
. defined under the act.
12 T 1 t. < e ) NN

- ‘ - -

-1

Which of the following statements/
statements is/are correct?

(1) -A and B only

/Q)/B and C only

(3) AandConly
4) A,BandC

33  Primarily|(cloud is a dispersion of j

—
Neutral water molecules

suspended in air

/z)/chaxged water particles dispersed
in air .

(3) Smoke and water vapours
dispersed in air

(4) Smoke in air . |

] ('. ) P.T.'O. )
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@ 8 points. lic on the cucumfcrcncc of a
circle. How many more qua

~can be fo

. points compared ‘to number of

triangles?
(1) 14

(2) 24/
(3) 16

@ 18

y - TISIT
55 A is x% more than B and ls‘x% of
sum of sum‘ of A and B. What is the

value of x? W50 .

ay so% ¢ LN

(2) 62%

(3) 75%

@) 37% o

‘-

4 W ——
1 2R - '“"“‘ l")lv
& r

56 The James Wébb Spacc Telescopey |
(JWST) is a gpace tclcscopc.._.launched
in 2021, which conducts _space
astronomy in the wavclength
range of the electromagnetic spectrum.

Papek-11(F)_R

dnlatcmls'
rmed by connectmg these .

!

}/Duc to the ﬁ'xctxon.of the road
M to conservation of angular

59 On a moorili:ss h:ght, whcn one looks

-

-

-cycle whnlc cyclmg?‘ RS

. momentum
(3) -Due to conservation of energy

(4) ’.D.uc to Earth’s éravitational pull

f‘.

0..0

of 'stars with ‘varying colours. Some
appear blue, some appear red, few

appear yellow etc. Thc bnghtest among
thcm are:

ay blue stars’
red stars

(3) yellow stars
e

(4) none of‘l.l'}.c above -

:I-!;- R P-T.o.

ch element for the

X 3100615

's Chzmdrayaan-z has mapped the
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[ the following statement/

hich ©
L ct about the

statemcnts _are corre
Indicator species?
A" Crayfishtan indicate the quality
_ of freshwater, because changes 1n
water acidity arc stressful to them.

W\cﬂlm of corals can indicate
trends such as scawaler rise and

sea temperature fluctuation, which

in turn arc signals of climate

change..

C. Percgrine falcons are ah indicator
—.: \
of pesticides. 037"

':.:ozi

Answer Options:” ‘
(1) (onb/ : /

(2) Aand C
/(»/Aand(/

All of the above = {

-

61 In Indi
maximum  share

consumption
/(’fKV:cat > o
(2) Paddy—
5~ Jowar”"

(4) Fox tail n}i“'k‘-t/

of pesticide

Paper-11()_R

the crop that: accounts for

mmunity worships their
th lots of vcne;‘ation.
ral tribe who

This tribal €O
dairy-buffalocs wi
‘They are scen as 8 pasto

" herd buffaloes that roam the Nilgiri
hills. Monogamy ijs an ideal norm.
trilocal.

Residence after marriage is pa
At the time of funeral rites,

sacrifice is obligatory. Their distinctive
Embroidery has got a GI Tag. The semi-
barrel-shaped huts are very peculiar and
have curious structurcs with no

buffalo

windows. .
Answer Options:
(1) Chenchu-

(2) Hakkipikki -

Mda -

(4) Jenu Kuruba
(e

63 /| Which of the following 'typc of

cixnhworm 1s_a litter feeder?

_—

(1) Epigeic

(2) Endogeic

(3) Anecceic

(4) None of the above

" l P-T-O.
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" Kudremukh Tron Ore Company
Limited is the sole _acplm:auon

h agency which is explorin ]

area for lithium reserves.

The thermonuclear application
makes Lithium 2S “prescribed

substance” under the W
Act, 1962. ol
Enc_l__.gy/-_ 3

Options: ! :
(1) AandB only
(2) A and 53 o:ﬂy
(3) Band C only
4) A B and C

Which of the following are electricity
distribution compages in Karnataka?
A, HESCOM

KPTCL -5
CESCOM
KPCL .. .
KAVIKA

Choose the correct answer from the
options given below :

65

11400

0.".'
IVaosw

Moo W

(1) Only one is correct

2 dn\y two are correct ;  7)
(3) Only thré€ ‘are correct (v
(4) Only four are corret:,t' ¥

Paper-11(F)_R

66

cctric Vehicle ( £Y)
revoluts ing 1 G Peed A
Energy EfTiciency (BEE) »hich A the

ollowing is/are S ‘

K arnataka s second zfler

saharashtra Sith the highesy/
.= qumber of public EV charz)li2
stations in the coumsy

= :
Karnataka is the (irst stzae in Indz
w;m.roducCanEVpolicyinzf 7 5
The State Budzet 2024 &t yunced
the establishment of 209 A

EV charging stations acToss €~
state via the PPP model.

the correct answer.
. l-( A ¢ A

A, an.d.c - @
and C 5nly

in India’s i)
jon, accond

th CamScanner

W1

Scanned

Ch

o
(3) A onl

67

(4) None O above

Consider the following about Shiksha
Copilot, identify. the correct options:

-

3s.

A. It is an Al-po_\fcr_cd digital
assistant.

-—-:"__:'" e '.;9'3! ’ ’

B. Itis .1mplcmcnted {0 empower
teachers to crcate comprehensive
and “personalized teaching
resources,

Options:

(1) A only

(2) B only - -

- (3) BothAand B

(4) Neither A nor B
P.T.O;
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68 Consider the following statements

about( Ewavalambi Sargt_ﬂi, Scheme:

A.- Under this scheme, the Scheduled
- Tri'bc youth and women will be
' provided with a subsidy and bank

loan facility to start self-

employment_upits.

B. 90% of the unit cost or a
maximum of Rs. 5.00 lakhs will

\

H be subsidy for the purpose of

) purchnsingy transport
vehicle. -

Which of the above statement/

El slatements is/arc incorrect?
/v)/A only

] (2) B only

(3) Both Aand B

[ (4) - Neither A nor B

]‘ 69 ° Recently (August, 2024) which of the

! following was announced as a Pcacock
,, :

Sanctlu

Adichunchanagiri
(2) Mullayanagiri
‘ (3) Kudremukh

\ (4) Brahmagiri

70

the following about Kyasanur

Consider ;

Diseasc: . ’ |

o tSprcad to people pnmanly occnftr;
" through tick bites or contact Wi
infected animals.

Kyasanur Forest Dise

be fatal.

ase cannot

accine available for

C. ‘here isno V
people at risk for Kyasanur Forest
Discase.

71

Paper-11(F)_R
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D. Kyasanur Forest Discase, f‘llSO
. known af monkey fever, 1s @
unique-flublic health problem
along thd belts of Western Ghats

of India

Which of the above st ment/
staterments is/are correct?
(1) A and ) Band C

(3) A,BanqD (4) Aand C

Consider the following statements
about the India's largest helicopter
manufacturing facility:

A. India’s lnrgc'sl helicopter
manufacturing facility is inywr-
Tumkuru District of Karmataka. 7

B. The factory is called Hindustan
Aeronautics Limited hﬁ/\
Helicopter Factory.

It is a greenfield project of the
defense PSU. Z

D. HAL plans to produce more than
1,000 helicopters in the range of
3-15 tonnes over a period of 20
years.

Which of the above statement/
statements is/are correct?

(1)' B and C only

(2) B and D only

(3) A and D only

4) A,B,Cand D

P.T.O.
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.~ The Karnataka Renéwable Energy
Policy has been cleared by the State
Government .of Karnataka.

A. - This policy is for the perio f
2024-29. 7

renewable power generation

S capacity.
C. By 2027, under this policy it has
. been aimed to have a share of 1

GW of energy produced fi
rooftop solar alone. : ;

Options:

(1) Only one statement is correct
(2) .. Only one statement is wrong
(3) All statements arc correct
(4) All statements arc wrong

73 - The Chicf Minister of Karnataka
presented the Budget for the state for
:+ the Financial Year 2024-25 on February
'; © 16, 2024. i
A. Two dedicated economic corridors
ill-be developed between:
{§ Mangaluru Port and Bengaluru
7 and (ii) Bidar and Bengaluru.
B. Installed powcr generation
-capacity will be increased from
32,000 MW to 60,000 MW over

“the_next scven years.
Which of the above. statement/

state {s is/arc correct?
A only ,
(2) B only |

»_74-“'.10 the con
. state for th

. B. This policy aims. that in the five Cdnpd iy
.. years, the state will have 10 GW & G The per capita
7" “Karnataka in 2022-23 (at curren;/

Ty
Budget for the w

text of the
i car 202425 - ;2

e financial ¥
A. The agri

B. Scnficc Scétor grew at a lower rat?
in 2022-23 than in 2021-22.
) GSDP of

El

prices) increasc
. .2021-22. .
D. India’s per capita GDP in 2022- D

23 js estimated to be less than ‘=2

half of Karnataka’s.per. capita

d by 13% over”,

Ty}
=i

GDP. ™
Options: Tl -
(1)~ Only one statement is correct ‘

) -Only two statements are correct
(3) Only three statements are correct
(4) All statements are correct :'2
o
. o
In the context of the Sector-wise O
expenditure undcr__K_n_@_a_mKa._BudgCt i
2024-25. | 2 ah
A.. Budgeted expenditurc (2024-25) -.
of Energy is morc than that of
Agriculture and Allied Activities.
B. Budgeted expenditure (2024-25)

of Police Department is more than ﬁ

that of Transport department. (Vo)
C. Budgeted expenditure (2024-25) 2

of Health and Family Welfare is ==
more than that of Irrigation and )

; Flood Control
Which of the above statement/:C'an,

statements is/arc correct?
A, B and C
(2) B and C only

(3) 'A only "z
(4) None of the abbve

y

P.T.O.
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(3) Both A and B 3 :
(4) Neither A nor B '
Paper-11(F)_R - 39
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76 Which of the slatements/statements is/

are correct?
k 2024

A. Global Resourges Qutioo .
was published by the lnwm/atwvﬁ{

Encrgy Agency.
al Waste Management
utlook 2024 was published by

UNEP and InternatiopatSolid
Wastc Association.

C. Living Planct regort is a bicpnial,
asscssment by conservation
organisation of the World wildlife
Fund (WWF). Zz

Answer options: -

", (1) _A only |
/A and B only.
" (3) B and C only

(4) C only

B‘ G

How many of the following pai'rs are
correctly matched?

National Park State
A. Mouling Goa
~ National Park: |

B. Inderkilla West Bengal
National Park:

C. Anshi Kamataka
National Park: ° ‘ .

D. Chandoli Maharashtra
National Park: " o

E. Mount Harriett Mizoram

National Park:
Answer options:
(1) Only one pair.
(2) Only two pairs
(3) . Only three pairs
(4) Only four pairs

Paper-1I(F)_R

41

the waterfall:
all runs down through the

hills located in Kutta village O
4 stream of Lakshmana

: Ty
78 Jdentify {g
The wal

B.'wr:uﬂﬂé'»f"i

310
Scanned with CamScanner

f Lord Shiva, known
Temple, is situated

nearby. Wandering beyond the falls is :.2
e whole place is termed (o

famous temple O
as the Rameshwara

restricted as th

as a wildlife sanctuary. 8
Answer Options: ur
(1) GaganachukKi Waterfall ™
(2) Shivanasamudra Waterfall

/Ml Waterfall
/Abbcy Waterfall
79 Consider the following statements: '_“3

A. The State Energy Efficiency Index 2
2023 (SEEI 2023) has_been o
developed by u of En i

_Efficiency (BEE) in collaboration
~with Alliance for an Energy
Efficient Economy (AEEE) to
track EE initiatives in the states
and UTs. LN

B. Kamataka has been categonzed G
as ‘Front Runner’ jn the State O
Energy Efficiency Index 2023.

Which of the above statements/ (M

statements is/are correct? -

(1) A only
(2) B only

.(3) BothAand B
(4) Neither A nor B

P.T.O.
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Consider the following for questions

84 to 87:
In a chess tourtl

80 How many zcros end the number

2300 o 5600 - 44009 Tt 64 playcrs ked

Scanned with C

(1) 300  urs, A participated. Following were
(2) 400 / the rules of this knock-out tournament:
E:; Zgg L There were SiX rounds in the -

tournaments.
1I. In the first round, Match 1 was
played between player Ranked 1
vs player Ranked 64. Match 2 was
played between player Ranked 2

81 If x is a positive integer such that
2x + 91 is perfectly divisible by x,
then the number of possible values

of x is

( 2 / ' vs player Ranked 63 and so on.
(2) 4 [II. In the second round, Match 1 was
3) 5 played between the winner of the
4) 6 Match No. 1 of the first round vs

the winner of the Match No.(32
of the first round. Similarly,
Match 2 was played between the

82 Dinmoﬁd price is proportional to the
square of its weight. This diamond

. 6
Ve

—

broke into four pieces with weights in
the ratio 1:2:3:4. Therefore the
merchant got Rs. 70,000 less. The

winner of the Match No. 2 of the
first round vs the winner of the
Match No. 31 of the first round.

original price of the diamond is IV. Next all rounds were played with
(1) 1.25 lakhs the above mentioned rules.
(2) 1.5 lakhs
3) 2 lakhs 84 Rnnke@Mc tournament, then
(4) 1 lakh which ¢ following players cannot
be the runner-up?
83 ECach odd digit in the number 5263187 _ A. Player Ranked 44
is added by 1 and each even digit is B. Player Ranked 45
subtracted by 1. The digits obtained are Cc. Pl Ranked
nrranged in ascending order. Which will ; Ayer-anked 46
be the third digit from the left of the D. Player Ranked 36
new number? Options:
(1) 4 (1) A only 223
(2) 2 (2) Band D pet
3) 5 (3) Aand C
4) 6 (4) C only
Paper-11(F)_R 43 P.T.O.
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R et st TS

85

86

~ 'Who could be the lowest Ranked player
facing the player sceded 29 in the
finals?

(1), 57
@) 59"
@) 62
(4) 63

If one of the matchgs was between the
players sceded 14 and 55, then one of
the matches in the tbumam'vent can be

" between players seeded

A. 25and 52 -
B. 43 and 47
C. 7 and 39

D. 2and 6
Options: -

(1) Band D

‘(2) Aand C

(3) Dand B
(4) Conly °

If there are only five such cases when
a lower Ranked player beats a higher
Ranked player in the tournament, then
who could be the lowest Ranked player
winning the tournament?

1) 32°
@) 16
3) 17
@) 63

Paper-1I(F)_R

g8 Consider the following Statements ;

No cats are dogs. ~ C@

All dogs are animals.

R

%@

3

Some animals are not cats

Based on the abovc smtemcnts which

is true: /

(1) Some cats are animal
/No dogs. are ca.ts,/

(3) All animals are dogsﬂ(o

(4) All dogs are can{.( |

89 Which of the following statements is

logically equivalent to : “If it rains,

1 will take an umbrella™? =
——

A. lfI take an umbrclla. it wi'll rain.

B. If 1 do not take an umbrcl!
will not rain. }

C. t does not rain, I will not take
an umbrella.

D. If I do not take an umbrclla 1t
wlll rain.

Answer Opnons: :
(1) AapdB
.C only
(3) Band C
(4) D only

45 P.T.O.
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90  Which of the following statement/ -

statemenls is/are incorrect about the
Knslunrangan Committee?

2010 to come up with th
Kamataka Wildlife Action Plan

The Committee recommended the

importance of involving locg
communities in environmental
management, scekin balance

between dcchOpmcnt and
conservation.

Jf')' ¢ Kamataka Government has

pported the recomm alions
f the report. .

D. After the committee’s report, a
Gadgil Committee on Wcstcm

Ghats was prepared
Options:

(1) A,BandC

(2) B, Cand DV
(3) A, C and I;?
(4 -A. Band D ’(

Rcccnlly;iﬁger wmé’} Was in news.
Consider the folldWing stalemcms
rcgardmg thls -
It is an innovative vertical garden.
It was designed by Patrick Blanc
It uscs the water efficiently. .

Recently it was launched in
Kempe Gowda International

Airport.
Which of the above are correct?
(1) All of them
(2) Only three of them
(3) Only two of them
(4) Only one of them

O.DF’?’

Paper-11(F)_R

—A. The Committee was set up x}ﬂ

74

——

47

92 Consider the following statements with

reference t(Jamataka Data Ccnu- ;

Policy 2022-27

A. The vision of the policy is makmg

~

Karnataka a dcsunatlon of chmyﬁl
for futuristic data centres.

B. Itaims to achieve low carbon foot ,.u.z 3
_point, renewable energy scurce- 0
based powering for data centre. = :

' m

C. It aims to establish Special
Economic Zone.

D. It offers support through :2
incentives and | come Tax g
exemptions O

Lo, ~
m
Which of the above Statements are
correct?
| Ty
(1) Al the statements are correct r~
O
_ o
(2) Only three statements are correct S
| _ ™M
Only two statements are correct ﬁ

(4 Only one statement is correct

PT.0.

’
—————
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93 Consider the following statements. 95 Which of the following research
: o institutions centre are situated in
A. Infant mortality rate Kamataka?
B. Under 5 mortality rate =~ . o
: National Centre for Bydgu:al L0
& Nconatal‘mortality ratc/ Sciences - G
TR L (e B. /Indian Institute of Horticultural
Which of the above indicators has Research - ‘!:1'
shown a declining trend for the period '
of 2011-2020 for the state of C. Central Power Research Institute
Kamataka? | " D. ICMR-National Institute of 0
(1) Only one of the above Epidemiology - . 'f G
(2) Only two of the above Choosc the correct "answer from the 8
(3) Only_three of the above option given below. H
(4) AAll the above (1) All of them
(2) Only three
94 Consider the l_"ﬁadmg Awards 2024 from-—|"" )3,)/0,”), two N
, Kamataka and reclevant field. . % i
(4) Only one w
A.  Ms. Shashi Soni - Trade and 8
Industry ‘.;-;
B. Shri Somanna - Social work 96 The Kamnataka State Wildlife Board
C. Ms. Prema Dhanraj =« Medicine _t (SBWL)'is headed by -
D. Shri Rohan Bopanna - S;go/ . _~4t) Chicf Minister of Kamataka/:
How many pairs are correctly matched? 3 Mrcst Minister of Kamataka {'3
(1) Only one pair is correct Mlife conservationist will be g
: . appointed by Governor of i
airs are correct
(2) 0[11)' two p ataka ™
3) Only three pairs are correct - -
) : (4) None of the above are correct w
(4) All of them are correct
49
Paper-1I(F)_R P.T.O.
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r.’: @ Whuch of the followmg is/are
i, funcuomng as City /atporauons in
5 Kamg]aka? 2N e '

i / Belgaum ¢

Choose thc correct answcr from the
opuon gwcn below

.
| @

iny one is correct
e ETavies 3 ‘“

Only two are correct

. "\ »
M

_ Ohly' three are correct

4 Oqu four are correct

. .

‘Which one of -. the " following
corporauons/boards entrustcd for the
L dcvclopment of ! AlrportS/AlrStrlpS/

Hcllpads in Kamataka?
(l) KIADB

o kssinc
Gy KSIIDC
@ Ksic

Papclfs.l.l(ﬁ')__‘R‘ ¢

- 100

51

| 99 Which onc of the follOYang-s"-m‘-Of“

irrigation contributes highest p’crcentag;
share to net irrigated area in Karnataka?

'(1) Canals irrigation .
(2) Tank irrigation -

3)

Wells irrigatio

(4)

ube wells/bore wells irrigation

A

-
4

Sixbooks P, Q, R, §, T and U are places
side by side. R, Q and T have blue
Ccovers and other books have red covexs
Only S and U are new books and rest
are old. P, R and S are Jaw rcpons and
the rest are Gazetteers. thch books

are old Gaz eers with blue covcrs?

Qand T .s"": 2
(2) Qand R

(3) Qand U

-'31-0(‘)615

ﬁmooas' -

3100615
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